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テキストボックス

yoshio
線

yoshio
テキストボックス
100

yoshio
線

yoshio
テキストボックス
・必要地耐力　80kN/㎡以上（長期）
・表面載荷　　 5kN/㎡以下
・天端荷重　　 1kN/ｍ以下

yoshio
テキストボックス
→　D6-@300　に変更
　（　0.78）

yoshio
テキストボックス
→　D6-@300　に変更
　（　0.01）

yoshio
テキストボックス
→　D6-@300　に変更
　（　0.42）
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yoshio
テキストボックス

yoshio
線

yoshio
線

yoshio
テキストボックス
100

yoshio
テキストボックス
・必要地耐力　90kN/㎡以上（長期）
・表面載荷　　 5kN/㎡以下
・天端荷重　　 1kN/ｍ以下

yoshio
テキストボックス
→　D6-@300　に変更
　（　0.18）

yoshio
テキストボックス
→　D6-@300　に変更
　（　0.93）
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テキストボックス
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線
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テキストボックス
100

yoshio
テキストボックス
・必要地耐力 100kN/㎡以上（長期）
・表面載荷　　 5kN/㎡以下
・天端荷重　　 1kN/ｍ以下
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テキストボックス
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線

yoshio
線
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テキストボックス
100

yoshio
テキストボックス
・必要地耐力 100kN/㎡以上（長期）
・表面載荷　　 5kN/㎡以下
・天端荷重　　 1kN/ｍ以下




